CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER

PROJECT NAME: ST. PATRICK STREET ALLEY SANITARY SEWER RECONSTRUCTION

PROJECT NO:

SS00-824

CONTRACTOR: RAPID CONSTRUCTION CO.

ORIGINAL CONTRACT AMOUNT:

\$48,732.95

CHANGE ORDER NO.: 1

DATE: 06-Aug-00

							DATE.	00-11ug-00
LINE ITEM	DESCRIPTION	UNIT	CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	INSTALLED QUANTITY	INSTALLED PRICE	INCREASE/ (DECREASE)
1	MOBILIZATION	EA	1	\$2,095.00	\$2,095.00		\$0.00	
2	TRAFFIC CONTROL	LS	1	\$1,225.00	\$1,225.00		\$0.00	
3	ASPHALT PAVEMENT SAWING	FT	165	\$1.50	\$247.50		\$0.00	
4	REMOVE ASPHALT CONCRETE PAVEMENT	SY	1042	\$4.50	\$4,689.00		\$0.00	
5	REMOVE 18" RC STORM SEWER	FT	34	\$6.00	\$204.00		\$0.00	
6	REMOVE TYPE "C" INLET	EA	1	\$100.00	\$100.00		\$0.00	
7	CONNECTION TO EXISTING SEWER	LS	1	\$130.00	\$130.00		\$0.00	
8	CONNECTION TO EXISTING MANHOLE	LS	1	\$382.50	\$382.50		\$0.00	
9	8" PVC SEWER MAIN (8'-10')	FT	200	\$25.00	\$5,000.00		\$0.00	
10	8" PVC SEWER MAIN (10'-12')	FT	182	\$28.60	\$5,205.20		\$0.00	
11	8" PVC SEWER MAIN (12'-14')	FT	50	\$30.00	\$1,500.00		\$0.00	
12	8" PVC SEWER MAIN (14'-16')	FT	20	\$43.00	\$860.00		\$0.00	
13	4" PVC SEWER SERVICE LINE	FT	170	\$16.00	\$2,720.00		\$0.00	
14	RECONNECT SEWER SERVICE LINE	EA	17	\$110.00	\$1,870.00		\$0.00	
15	TYPE 1 BEDDING MATERIAL	TON	85	\$15.60	\$1,326.00		\$0.00	
16	MODIFIED PROCTOR SOIL TEST	EA	2	\$200.00	\$400.00		\$0.00	
17	INSTALL 18" RC STORM SEWER PIPE	FT	34	\$20.00	\$680.00		\$0.00	
18	CONSTRUCT TYPE "C" INLET	EA	1	\$1,080.00	\$1,080.00		\$0.00	
19	ADJUST MH FRAME & COVER	EA	1	\$305.00	\$305.00		\$0.00	
20	AGGREGATE BASE COURSE	TON	250	\$13.50	\$3,375.00		\$0.00	
21	CLASS G, TYPE 1 ASPHALT CONCRETE	TON	185	\$36.70	\$6,789.50		\$0.00	
22	CLASS G, TYPE 2 ASPHALT CONCRETE	TON	125	\$39.30	\$4,912.50		\$0.00	
23	TACK COAT	GAL	55	\$3.85	\$211.75		\$0.00	
24	INCIDENTAL	LS	1	\$300.00	\$300.00		\$0.00	
25	REMOVE & DISPOSE CONTAMINATED SOIL	TON	500	\$4.00	\$2,000.00		\$0.00	
26	REMOVE & DISPOSE CONTAMINATED WATER	GAL	7500	\$0.15	\$1,125.00		\$0.00	
27	Geogrid/soil support fabric	LS	0.00	3274.46	0.00		\$3,274.46	\$3,274.46
28	Concrete sidewalk, 6", reinforced	LS	0.00	500.00	0.00	1	\$500.00	\$500.00
	TOTAL Y				φ40. 5 22.05		42.55	Φ2.85.1.1
	TOTAL				\$48,732.95		\$3,774.46	\$3,774.46

C.C.O. HISTORY INCREASE/(DECREASE)			PRIOR ADJUSTED CONTRACT PRICE :		\$48,732.95	
	CCO #1	\$3,774.46	NET INCREASE/(DECRE	ASE):	\$3,774.46	
	CCO #2 CCO #3		ADJUSTED CONTRACT PRICE:		\$52,507.41	
PRIOR TO	OTAL =		CHANGE TO DATE:		\$3,774.46	
CONTRACTOR:				DATE:		
ENGINEER:				DATE:		
MAYOR:				DATE:		
FINANCE:				DATE:		
CONTRACT TIME CHANGE +/-: 0 NEW CONTRACT TIME	ME: Davs					

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER

PROJECT NAME: ST. PATRICK STREET ALLEY SANITARY SEWER RECONSTRUCTION

PROJECT NO:

SS00-824

CONTRACTOR: RAPID CONSTRUCTION CO.

ORIGINAL CONTRACT AMOUNT:

\$48,732.95

CHANGE ORDER NO.: 1	DATE:	06-Aug-00
---------------------	-------	-----------

ITEM	DESCRIPTION	REASON FOR CHANGE
	Geogrid/soil support fabric	Added geogrid for stabilization, subgrade had more moisture content than anticipated, not included in contract.
	Concrete sidewalk, 6", reinforced	Adjustments necessary to conform to project plans and specifications, not included in contract.

PREPARED BY: DATE:

•			
1			